
Fourier-Motzkinova eliminace

Farkasovo lemma pro nerovnice:
Nech A ∈ Rm×n a b ∈ Rm. Soustava Ax ≤ b m een prv kdy
neexistuje y ∈ Rm tak, e y ≥ 0, ATy = 0 a bTy < 0.

Āi∗x̄ + xn ≤ bi i = 1, . . . ,m′

Āi∗x̄− xn ≤ bi i = 1 + m′, . . . ,m′′

Āi∗x̄ ≤ bi i = 1 + m′′, . . . ,m,

(Āi∗ + Āj∗)x̄ ≤ bi + bj i = 1, . . . ,m′, j = 1 + m′, . . . ,m′′

Āi∗x̄ ≤ bi i = 1 + m′′, . . . ,m,

yi =
∑m′′

j=m′+1 y
′
ij , pro i = 1, . . . ,m′,

yj =
∑m′′

i=1 y
′
ij , pro j = m′ + 1, . . . ,m′′,

yi = y′i pro i = m′′ + 1, . . . ,m.



Fourier-Motzkinova eliminace

Farkasovo lemma pro nerovnice:
Nech A ∈ Rm×n a b ∈ Rm. Soustava Ax ≤ b m een prv kdy
neexistuje y ∈ Rm tak, e y ≥ 0, ATy = 0 a bTy < 0.
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Āi∗x̄ ≤ bi i = 1 + m′′, . . . ,m,
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